Catalyst- increase the rate of reaction by lowering the Activation Energy because more successful
collisions because more particles will have collided with the Activation Energy.
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Mr= 204
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Electrolysis CO .
Current- The flow of electrons or ions. \e .
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Electrolyte- Substancqs whi n‘&‘ogj ts electritg \A@;‘m;:én or dissolved in water, ionic
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Metals- CQOXS surrounded by delocelised electrons.

Electrolysis- Involves the formation of a new substance when ionic compounds conduct electricity.

Cathode (-) Positive ions go to cathode (Metals + Hydrogen)- Collect them.
Anode (+) Negative ions go to Anode (Non- Metals)- Dump them.

Molten lonic Substances
PbBr2

Cation(+) Pb2 + 2e—> Pb (Cathode)
Anode(-) 2Br- —> Br2 + 2e (Anode)



